DUPLOMATIC

MOTION SOLUTIONS

Y DAIKIN

DESCRIPTION

96 520/424 ED

SUT

HIGH PRECISION SUPER UNIT
(HYBRID HYDRAULIC

SERVO PUMP)

SERIES 40

MOTOR PUMP FLOW RATE
50 to 200 I/min

The high precision SUPER UNITs are
designed and manufactured by Daikin
Industries LTD.

The unit is made of the motor-pump and its

controller, plus the pressure sensor,
supplied with the pump.

A kit with the electrical accessories needed

to wire the controller according to EC
standards is offered separately. The kit )
also includes the cables for the pressure 9
sensor and the encoder. L

The SUT is designed for industrial

-
O

machines.
This hybrid power unit achieves high ‘

_
torque and precision control with up to 1%

hysteresis and linearity over the entire
range of pressure/flow rate. [

machinery, such as presses and moulding (5 Me
)

As an alternative to analogue command ISUTO0D15021-40{P2-DA

PH| PL

|
( I
I Encoder
[ S, _

values for pressure and flow rate, the
operation conditions can be selected easily
by using 3-bit ON/OFF digital signals that
can call eight different preset pressure/flow
rate patterns (8-PQ type: settable using a |

| *not supplied

parameter).

conventional hydraulic control methods.

lifetime, and less heat dissipation in the surrounding ambient.

lowering the pressure.

by the SUT or can be activated by an external signal from the PLC.

The flow is controlled during the cylinder operation. When the load pressure exceeds the pressure command, the rotation speed is
reduced to control the pressure. The SUT allows bigger energy saving and more precise control of the machine, compared to

This technology leads to a real advantage for the machinery on which the SUT works in terms of oil and heat-sensitive parts

On SUTs equipped with a double pump, the primary pump delivers high pressure and limited flow. When the flow rate request is
higher than the flow rate that the primary pump can supply, the second pump is also activated guaranteeing the required flow, but

The switching from single to combined operation is done by a solenoid valve. This solenoid valve can be managed automatically

96 520/424 ED

1/32



D

1 - IDENTIFICATION CODE

The delivery of codes below includes the motor pump controller.

SUT

SERIES 40

Each controller is associated with its own motor pump and cannot be exchanged, even between machines of the same model, as the controller

and the motor pump are tested as a unit.

1.1 - Single pump versions

SUTO00

40

DA

High Precision SUPER UNIT

Single pump

5021 = max flow rate 50 I/min; max op. pressure 210 bar
10021 = max flow rate 100 I/min; max op. pressure 210 bar
13021 = max flow rate 130 I/min; max op. pressure 210 bar

Series No.
(from 40 to 49 sizes and mounting dimensions
remain unchanged)

L Suction port at bottom

N = Basic version, without delivery manifold
P1 = With manifold for unloading

— 3-phase AC power supply
380/440 VvV 50/60 Hz
without transformer

1.2 - Double pump versions

SUTO0

40

DA

High precision SUPER UNIT

Double pump

8021 = max flow rate 80 I/min; max op. pressure 210 bar
15021 = max flow rate 150 I/min; max op. pressure 210 bar
20025 = max flow rate 200 I/min; max op. pressure 250 bar

Series No.

(from 40 to 49 sizes and mounting dimensions
remain unchanged)

See details and ordering code in p. 9.4.

L Suction port at bottom

N = basic version, without delivery manifold
P2 = with manifold for pressure selection and
unloading (not available for SUT00D20025)

— 3-phase AC power supply
380/440 vV 50/60 Hz
without transformer

NOTE: The suction flange for SUT00D20025-40YN-DA is a customized part. It must be ordered separately.

96 520/424 ED

2/32



D

SUT

SERIES 40
2 - SPECIFICATIONS
SUTO0S* SUTOOD*
5021 10021 13021 8021 15021 20025
Maximum operating pressure bar 206 206 250
Operating pressure range:
- 1st pump (HP) bar 2.1+ 206 2.1+ 206 2.5+ 250
- 1st + 2nd pump (HP+LP) - 2.1+176 2.5+ 165
Operating flow range (NOTE 1):
- 1st pump (HP) I/min 0.5+50 1+100 1.3+130 0.8+38.4 1.5+70.9 2 +56
- 1st + 2nd pump (HP+LP) - - - 0.8 +80 1.5+ 150 2 +200
Pump type gear pump double gear pump
Pump displacement:
- 1st pump (HP) cm3 20.7 38.6 44 15 24.9 20.8
- 1st + 2nd pump (HP+LP) - - - 31.2 52.7 74.1
Controller input power (NOTE 2) 3-phase AC 380 V to 440 V 50/60 Hz
Permissible voltage fluctuation -15% to +10% -20% to +10%
Required power supply capacity kVA 20.1 34.8 34.8 20.1 34.8 52
Recommended breaker capacity A 30 40 40 30 40 50
Nominal motor power kW 11 15 15 11 15 22
Motor rated input current A 21 29 29 21 29 45
Leak current (NOTE 4) mA 2.1 3.9 3.9 21 3.9 2.8
Motor cooling fan power 1-phase AC 200 to 240 V 50/60 Hz
Pump switching valve power - - - DC 24V +10% - (NOTE 3)
Ambient temperature range °C motor pump 0 to +40; controller 0 to +55 (no freezing)
Fluid temperature range °C 0 to +60 (recommended +15 to +50)
Fluid contamination degree 1ISO 4406:1999 class 20/18/15
Viscosity Viscosity grade: ISO VG32 to 68  Viscosity range: 15 to 400 mm?/s
Operating ambient humidity RH < 85%, without condensation
Protection class motor pump IP44 (NOTE 5); controller IPOO (IP54 cabinet needed)
Vibration resistance:
- Motor pump 30.0 m/s? 33.3 Hz, 3 directions, X/Y: 2 Hr Z: 4 Hr
- Controller 21.6 m/s? 33.3 Hz, 3 directions, X/Y: 2 Hr Z: 4 Hr
Installation Altitude max 1000 m, indoor. Motor pump: horizontally on the base for the hydraulic
unit Controller: inside cooled electrical cabinet IP54, vertical position
Communication port RS232C
Mass:
- motor pump without manifold kg 59 89 89 61 89 115
- motor pump with manifold 61.8 94.5 94.5 71 99 -
- controller 10 104 104 10 10.4 14

NOTE 1: The maximum flow rate is the theoretical flow rate and is not guaranteed.

NOTE 2: Even if the unit is used within the permissible power voltage fluctuation range, the p/Q output characteristics may deteriorate if
undervoltage occurs. Also note that overvoltage fluctuation may cause alarms, due to overloading of regenerative operation, depending on the
operation conditions. You are therefore recommended to use the unit in an environment with limited power voltage fluctuation as far as

possible.

NOTE 3: For models without delivery manifold (codes ending with N-DA), the Customer must arrange the delivery manifold with switching

valve, or provide a flow rate selection mechanism in the hydraulic circuit.

NOTE 4: Representative values when using the recommended noise filter. Protection against noise, in accordance with Daikin

recommendations, may be required depending on the operating environment.

NOTE 5: The shaft through hole, encoder connector, motor cooling fan and terminal block are excluded.

96 520/424 ED

3/32



D SUT

SERIES 40

3 -SUT00S5021 (11 KW MOTOR)

Values obtained and rated for ambient temperature < 40 °C and fluid temperature < 60 °C.

3.1 - Pump working range

p [bar] A
210 fe=foof o2 - continuous operation
175 ~ s mmmm- short-time operation (< 20% of duty cycle time)
[
140
105 \\\
70
The unit operates continuously within the range given in the
35 characteristic chart. However, the range of operation can be
extended within the short-time rating range for up to 60 seconds,
— provided it does not exceed a 20% of the duty cycle.

0 10 20 30 40 50 60 70 80
Q [l/min]

3.2 - p/Q command voltage
The accuracy of both pressure and flow command is < 0.1% within the entire working cycle.

pressure command flow command

) )
-FZO.G — 50
& i3
=3 // g 40
o 15 7/ 5
o // 3 30
10 4
/ 20
5 // 10
0O 123456780910 0 123456780910
ref. Pl [V] ref. QI [V]

3.3 - SUT00S5021-40YN-DA circuit diagram (basic version)
Please note that the pressure sensor is supplied. See details at point 12.

delivery manifold
(not included)

pressure command Pl

0..10vDC pressure sensor -
flow rate command QI W ~

0...10v DC o 20.7 _
pressure monitor PO ‘

0..10V DC | CONTROLLER Uvw

flow rate monitor QO IPM Motor

—_— s -]

-10..+10vDC Thermistor

3~380...440V AC 50/60Hz

Encoder

1~200...240V AC 50/60Hz

1 Cooling fan

3.4 - SUT00S5021-40YP1-DA circuit diagram (with manifold)
The manifold mounted on the motor pump is equipped with a pressure relief valve to protect the pump and the pressure sensor. See details at

point 3.6.
See instructions for the pressure relief valve in point 7.4.

96 520/424 ED 4/32



D

3.5 - SUT00S5021-40YN-DA overall dimensions (basic version)

SUT

SERIES 40

dimensions in mm

i

Ve

77 228

L— 275

n. 4 slots @14.5
for M12 bolts

i

—

g

=1

Gear pump/ L

IPM motor cooling fan
AIR
o INTAKE
El <=
H —1—1
i [ 49 67

5.5 —=p=—

n. 4 bolts M10x1.25 (fine pitch) V14

1*5 kosh oﬂ
241

suction port

Pressure port:

P SAE 3000 3/4”
Suction port: SAE 3000 1"
s Suction flange kit 1" BSPP available.

(NOTE 2)
Ordering code: 3906520020

1 | Grease nipple (see point 14.2)

2 Encoder connection

3 | n° 2 eyebolts for lifting

Motor power supply port: @28

5 | Cooling fan cable port: @21

6 | Motor thermistor port: @21

)

@25 —
.

26.2103
|

f

|
1

\ﬁTﬂ—m
|
=

} E:
/l’

52.4:03

n. 4 bolts M10x1.25 (fine pitch) V14

L80.1*

pressure port

222103 j]:
NOTE 1: Motor terminal block =
information at point 13.
NOTE 2: The suction flange
kit includes a BSPP threaded 47.6%03

flange, OR seal, screws and
washers.

3.6 - Controller

Please refer to point 10 to find information relating to the controller for this motor pump.

96 520/424 ED

5/32



D SUT

SERIES 40

3.7 - SUT00S5021-40YP1-DA overall dimensions (with manifold)
Please refer to the drawing of SUT00S5021-40YN-DA for missing dimensions.

dimensions in mm

689
238
1
O
270 o@he®
219 =
X | 16
57

detail of the ports

2 E— -~ 124
- —_—— AR ®_\ - SOq
; | INTAKE

|

il
|
L
|
{

15.7

HYDRAULIC DIAGRAM

1/2" BSPP & 3/4"BSPP N
P Pressure port: 3/4" BSPP T TP _ P _TR
T Discharge port: 1/2" BSPP U\
M6-@0.7
Suction port: SAE 3000 1” I g . ‘
s Suction flange kit 1" BSPP available.
(NOTE 2)
Ordering code: 3906520020 (llj%I '\éa
1 Unloading manifold |
2 | Pressure sensor NOTE 1: Motor terminal block _ _ _4 MANIFOLD
- information at point 13.
Pressure relief valve
3 PRK10-250/12N/A554 NOTE 2: The suction flange
kit includes a BSPP threaded . ] _ 8uT
4 Flow control valve, fixed adjustment flange, OR seal, screws and s
- washers. 1" SAE 3000
5 Test point

3.8 - Controller
Please refer to point 10 to find information related to the controller for this motor pump.

96 520/424 ED 6/32



D

SUT

SERIES 40
4 - SUT00S10021 (15 KW MOTOR)
Values obtained and rated for ambient temperature < 40 °C and fluid temperature < 60 °C.
4.1 - Pump working range
p [bar] A
200 === ===m -3 continuous operation
S + = = = = = short-time operation (< 20% of duty cycle time)
~
N
150 KN
N
100
50 The unit operates continuously within the range given in the
characteristic chart. However, the range of operation can be
0 - extended within the short-time rating range for up to 60 seconds,
0 20 40 60 80 1007 provided it does not exceed a 20% of the duty cycle.
Q [l/min]

4.2 - p/Q command voltage

The accuracy of both pressure and flow command is < 0.1% within the entire working cycle.

pressure command flow command
) )
—20.6 — 100
& £
=3 15 // g 80
(@] y o
o // d 60
10 4
/ 40
/
5 e 20
0 12345678910 012345678910>

ref. PI [V]

4.3 - SUT00S10021-40YN-DA circuit block diagram (basic version)
Please note that the pressure sensor is supplied. See details at point 12.

ref. QI [V]

delivery manifold

(not included)

pressure command Pl pressure sensor -
0..10V DC ' included, spare | 507
flow rate command Ql -
0..10v DC
pressure monitor PO P1 P2
010V DC CONTROLLER uvw
flow rate monitor QO IPM Motor
-10..+10vV DC Thermistor
3~380...440V AC 50/60Hz
Encoder
1~200...240V AC 50/60Hz _
Cooling fan

4.4 - SUT00S10021-40YP1-DA circuit diagram (with manifold)

The manifold mounted on the motor pump is equipped with a pressure relief valve to protect the pump and the pressure sensor. See details at

point 4.6.
See instructions for the pressure relief valve in point 7.4.

96 520/424 ED

7/32



D

4.5 - SUT00S10021-40YN-DA overall dimensions (basic version)

SUT

SERIES 40

dimensions in mm

770

525

L

| N
‘}»* 37 n. 4 slots @14.5
208 for M12 bolts

IPM motor

cooling fan

AIR
INTAKE

<5

i

suction port

49 67

@ D (3
Bl — — -
Gear pump ] - i-gl
|
5.5 —=

(NOTE 2)

P2 | Pressure port: SAE 3000 3/4”
Suction port: SAE 3000 1 1/4”
s Suction flange kit 1 1/4” BSPP available.

Ordering code: 3906520021

1 | Grease nipple (see point 14.2)

2 | Encoder connection
3 | n° 2 eyebolts for lifting
4 | Motor power supply port: @34

5 | Cooling fan cable port: @21

6 | Motor thermistor port: @21

washers.

NOTE 1: Motor terminal block
information at point 13.

NOTE 2: The suction flange
kit includes a BSPP threaded
flange, OR seal, screws and

’ N 7
15 B?#Q?J
279

n. 4 bolts M10x1.25 (fine pitch) ¥14

S
@@ %

36 [mz —
“2(;9” 30.2:03 g — 173
TR =
o Vo | W ¥

T |
—
58.7+0.3
re— 09.3 —=

pressure port

n. 2x4 bolts M10x1.25 (fine pitch) V14

[ P2020 ~P1020
i Oe—a— T H 173
L LIPS 6 A7 | He
476203 [ D -© @ |
+ JEreLe o1 Ei ’*’J{

22.2+03
22.20.3

SRR

*74ﬁ
~—121.8

4.6 - Controller

Please refer to point 10 to find information relating to the controller for this motor pump.

96 520/424 ED

8/32



D SUT

SERIES 40

4.7 - SUT00S10021-40YP1-DA overall dimensions (with manifold)
Please refer to the drawing of SUT00S10021-40-YN-DA for missing dimensions.

dimensions in mm
770
367
©¢ 4ol
f{9¢
306 255 °9 —
215 A | B
17.3 ¢0.1$L
pressure port
detail
o o
- le -
[
|
112.2-i H ® [ -
176.8 = -
r—203.8—
52.4 0.1 n°4 bolts
M10x20
HYDRAULIC DIAGRAM
3/4" BSPP & 1"BSPP N
T TP P1 TR
L L LY
)|(
P | Pressure port: SAE 3000 1" M6-30.7
P1 | Pressure port: 1" BSPP (alternative, plugged) | l |
T | Discharge port: 3/4” BSPP
=t (= s
Suction port: SAE 3000 1 1/4” ©
s Suction flange kit 1 1/4” BSPP available. |E1h
(NOTE 2) _
Ordering code: 3906520021 _
1 | Unloading manifold 1" SAE 3005 MANIFOLD
2 | Pressure sensor NOTE 1: Motor terminal block P2_| P1
3 Pressure relief valve information at point 13. [ ( [
PRK10-250/12N/A554. NOTE 2: The suction flange
: valve. fixed adi kit includes a BSPP threaded _ _ _ Sut
4 Flow control valve, fixed adjustment flange, OR seal, screws and S
5 Test point washers. 1 1/4" SAE 3000

4.8 - Controller
Please refer to point 10 to find information relating to the controller for this motor pump.

96 520/424 ED 9/32



D SUT

SERIES 40
5-SUT00S13021 (15 KW MOTOR)
Values obtained and rated for ambient temperature < 40 °C and fluid temperature < 60 °C.
5.1 - Pump working range
p [bar] A
210 [e=== —— e continuous operation
175 \\ ------ short-time operation (< 20% of duty cycle time)
‘\
N
140 S
~ ~ <
105 =
\ ]
70 N -
\\ ! The unit operates continuously within the range given in the
35 — characteristic chart. However, the range of operation can be
extended within the short-time rating range for up to 60 seconds,
0 — provided it does not exceed a 20% of the duty cycle.
0 30 60 90 120 150

Q [l/min]

5.2 - p/Q command voltage
The accuracy of both pressure and flow command is < 0.1% within the entire working cycle.

pressure command flow command
) [
E20_6 = 130
= /] £ 100 /
o 15 7/ o v
a // S 45 )4
10 )4
d
5 /// 25 //
012345678910> 012345678910>
ref. Pl [V] ref. QI [V]

5.3 - SUT00S13021-40YN-DA Circuit block diagram (basic version)
Please note that the pressure sensor is supplied. See details at point 12.

delivery manifold

(not included)
pressure command Pl pressure sensor IZ o
~
0..10vDC included, spare £ 20.7
flow rate command QI : -
0..10v DC
pressure monitor PO P1 P2
010V DC CONTROLLER uvw
flow rate monitor QO IPM Motor
-10..+10v DC Thermistor
3~380...440V AC 50/60Hz
Encoder
1~200...240V AC 50/60Hz .
Cooling fan

5.4 - SUT00S13021-40YP1-DA circuit diagram (with manifold)
The manifold mounted on the motor pump is equipped with a pressure relief valve to protect the pump and the pressure sensor. See details at
point 5.6.

See instructions for the pressure relief valve in point 7.4.

96 520/424 ED 10/32



D SUT

SERIES 40

5.5 - SUT00S13021-40YN-DA Overall dimensions (basic versions)

dimensions in mm

776

~— 194 525
#87 Ti 248 —-‘

L
i

1
* !
+« 37 J | n. 4 slots @14.5 15 ||~ 1274127
97 -~ 908 for M12 bolts 279

303 —=

IPM motor cooling fan
P2 PD(D (3 .

[==) o o
| Fes AIR
ffooldel |, INTAKE
<3
M/ = = ] Q
| e
| Q < 49 §7 suction port
5.5—= J @ f f n. 4 bolts M10x1.25 (fine pitch) V14
-~ 171 @ 36 [(532
— 204 —= 5 30.2:03 , 17.3
239 H =T/
T -
=& Q[ *
1} T ﬂ —

58.70.3 J
l=— 103

g% Pressure port: SAE 3000 3/4" pressure port
- n. 2x4 bolts M10x1.25 (fine pitch) V14
Suction port: SAE 3000 1 1/4”
S Suction flange kit 1 1/4” BSPP available T P2 @20 —P1 @20
(NOTE 2). ‘ \
Ordering code: 3906520021 1 B o o e 17.3
) : w == & B | > |
1 | Grease nipple (see point 14.2) 47.6+0.3 | ] ‘ : i |
l | | — _——
2 Encoder connection ’ 774€iﬁi Q}Aﬁg %
3 n° 2 eyebolts for lifting NOTE 1: Motor terminal block
information at point 13. 22,2103
4 | Motor power supply port: @34 NOTE 2: The suction flange 999103 - 785
Cooling fan cable port: @21 kit includes a BSPP threaded :
flange, OR seal, screws and —o125.5
6 Motor thermistor port: @21 washers.

5.6 - Controller
Please refer to point 10 to find information relating to the controller for this motor pump.

96 520/424 ED 11/32



D

5.7 - SUT00S13021-40YP1-DA Overall dimensions (with manifold)
Please refer to the drawing of SUT00S13021-40YN-DA for missing dimensions.

SUT

SERIES 40

776

-®

E

)

[Uﬁ—

P | Pressure port: SAE 3000 1”

P1| Pressure port: 1" BSPP (alternative, plugged)

T | Discharge port: 3/4” BSPP
Suction port: SAE 3000 1 1/4”

s Suction flange kit 1 1/4” BSPP available
(NOTE 2).
Ordering code: 3906520021

1 | Unloading manifold

2 | Pressure sensor

3 Pressure relief valve
PRK10-250/12N/A554.

4 | Flow control valve, fixed adjustment

5 | Test point

4) (3)(P1
| = °
w 1O B AIR
638 1 fdo@p |4l 4, INTAKE
Jﬁ L = <3

173 2 - -
115.9«H s -
~—180.5— & ~
l~—207.5—

NOTE 1: Motor terminal block
information at point 13.

NOTE 2: The suction flange
kit includes a BSPP threaded
flange, OR seal, screws and
washers.

dimensions in mm

367

C

215 o]

17.3 t0.1$L

pressure port
detail

‘

52.4 0.1 n°4 bolts
M10x20
HYDRAULIC DIAGRAM
3/4" BSPP & 1" BSPP N
T TP P1 TR
— T Tl
)|(
M6-@0.7
q
I I
= e
©
-
p
1" SAE 3000 _ _ | MANIFOLD |
P2 | P1
» (OO |
I S{
S
1 1/4" SAE 3000

5.8 - Controller
Please refer to point 10 to find information relating to the controller for this motor pump.

96 520/424 ED

12/32



D

6 - SUTOOD*- DOUBLE PUMP UNIT OPERATION

Double pump type units enable selection between combined flow rates or single flow rate. A dedicated solenoid valve controlled by the SUT or
the PLC of the main machine, depending on the parameter setting, switches between low pressure with high flow and high pressure with low
flow to avoid overloading the electric motor, as often required in the duty cycles for presses and other machinery.

SUT

SERIES 40

As an alternative to pressure and flow control with an analogue signal, the duty cycle can be easily set using the programmable set of 3-bit
digital ON/OFF signals, which can recall up to eight different pressure/flow patterns.

7 - SUT00D8021 (11 KW MOTOR)

Values obtained and rated for ambient temperature < 40 °C and fluid temperature < 60 °C.

7.1 - Pump working range

The SUT00D8021 unit can run continuously within the continuous rating range (S1) given in this diagram. However, the range of operation can
be extended within the short-time rating range for up to 20 seconds, provided it does not exceed 20% of the duty cycle.

p [bar] A

210

- |l -
L)
y |

175
N

140

Vv

/.
/
.

105
~

70 ~—

35

0

—

0 10 20 30 40 50 60

7.2 - p/Q commands (analogue input)

70 80
Q [l/min]

HP pump continuous operation
------ HP pump short-time operation.

HP + LP pumps continuous operation
= == == == HP + LP pumps short-time operation

Short time def: < 20% of duty cycle time

Diagrams below show the behaviour of the p/Q commands both in combination flow mode and in single flow mode.

pressure command linearity
PO [bar] “

210

175

140 P

o

105
70 P

—
—

o 1 2 3 4 5 6 7 8 9 10

7.3 - Circuit block diagram

The flow rate switching circuit
between single pump and combined
pumps must be prepared by the
customer.

For cycles that include pressure
holding for 3 minutes or longer, a
bleed-off circuit equivalent to the
capacity of a single pump running at
150 min-1 must be provided at the
pump delivery side to cool the pump.

Please note that the pressure sensor
is supplied spare with the pump.

ref Pl [V]

pressure command Pl
0..10v DC
flow rate command QI
0..10v DC

pressure monitor PO
0..10v DC

flow rate monitor QO
-10...+10V DC

3~380...440V AC 50/60Hz

flow command linearity

QO [I/min
™y
60 > ~ -
40 -
. // /{J/,,,/
<ste

o 1 2 3 4 5 6 7 8 9 10

See details at point 12.

1~200...240V AC 50/60Hz

96 520/424 ED

ref QI [V]
HP pump HP+ LP pumps
delivery manifold
(not included)
pressure -
sensor signal IZ -
o P ~
included, spare 20.7 B
PH PL
CONTROLLER Uvw
IPM Motor )
Thermistor
Encoder
Cooling fan

13/32



D

7.4 - SUT00D8021-40YP2-DA circuit diagram (with manifold)

The manifold mounted on the motor pump is equipped with a
pressure relief valve to protect the high-pressure pump.

To prevent overloading of the electric motor, the driver controls the
solenoid valve by discharging the flow of the PL pump, typically
when the pressure measured by the sensor at the TR point exceeds
70 bar (indicative value, depending on the analogue commands and
the parameters set controller-side).

P
Both pumps work below this value. 1" SAE 3000

Below are the main characteristics of the components for which
actions by the customer are required during commissioning.

PRESSURE RELIEF VALVE
description: PRK10-250/12N/A554

Adjust the valve to 10+ 15 bar above the operating pressure of the
motor pump.

pressure gain: 47 bar / turn
locknut tightening: spanner 13

SOLENOID SWITCHING VALVE
description: DS5-SA2/14N-D24K1/F

The controller (output DO3) drives a power relay which in his turn
will switch the DS5 solenoid valve.

Power relay and 24V DC valve power supply are the responsibility
of the Customer.

electrical data of the solenoid valve :

Nominal |Resistance| Current Power IP dearee
voltage at 20°C |consumpt. | consumpt. (ng_E)
Y [Q] [Al W]
DC 24 12 2 48 IP65

cable: 1.5 mm?
relay requirements: 24V DC (max 50 mA) coil, single stable, with
diode coil surge killer, 24V DC 5A / 220V AC 5A contact rating.

Refer to catalogue 41 310 for more details on the solenoid valve.

NOTE: The IP protection degree IEC 60529 is only guaranteed
when the equivalent IP-rated connector is connected and installed
correctly.

Electrical connector type EN 175301-803 available separately. See
catalogue 49 000.

PL pump discharge through solenoid valve

Ap [bar] A Ap [bar]
4 4
35 35
3

3
2.5
9 2.5
15 2
1 _— 1.5
0 — 0

0 5 10 15 20 25 30 35385
Q [l/min]

96 520/424 ED

TP

HYDRAULIC DIAGRAM

J

TR

SUT

SERIES 40

3/4" BSPP

T

M6—®0.;)(

1SO 4401-05

0=

)
a)

OM
O

WBIT

MANIFOLD

PL

SUT‘

11/4" SAE 3000

;|

manifold Ap (P path)

10

20

30

40

50

60

70

80
Q [I/min]

14/32



D

7.5 - SUTO0D8021-40YN-DA Overall dimensions (basic version)

SUT

SERIES 40

~— 179

—
°
i

i

" -

77 228

n. 4 slots @14.5 15
for M12 bolts

Li2754—

IPM motor

1084108
241

cooling fan

dimensions in mm

N

1 S AIR
L - INTAKE
== <=
Gear pump/
O &
55 mlle_ { 45 é suction port
' n. 4 bolts M10x1.25 (fine pitch) ¥14
~— 200 J 36 (fine pitch)
— 232 —= 5 /7932 —
268 30.2%03 T = f 17.3
I
|— - -
o\ o }
8 s
‘ —
PH High pressure port: 58.70.3 |
SAE 3000 3/4” L
89 —=
PL Low pressure port:
SAE 3000 3/4” pressure port
Suction port: SAE 3000 1 1/4” n. 2x4 bolts M10x1.25 (fine pitch) V14
s Suction flange kit 1 1/4” BSPP available
(NOTE 2). T PH @20 — PL @20
Ordering code: 3906520021 !
) ) R i o ey r 17.3
1 Grease nipple (see point 14.2) i © ﬁ H— ’
arews [ [& Gl
2 Encoder connection o e —
) i CARCARCAR
3 | n° 2 eyebolts for lifting NOTE 1: Motor t(_ermlnal block f Jt T i
information at point 13. -
4 | Motor power supply port: @28 NOTE 2: The suction flange 22.2+03 __
. kit includes a BSPP threaded
: 22.2#03
5 Cooling fan cable port: @21 flange, OR seal, screws and J»L 64.5
6 | Motor thermistor port: @21 washers.
7.6 - Controller

Please refer to point 10 to find information relating to the controller for this motor pump.

96 520/424 ED

15/32



D SUT

SERIES 40

7.7 - SUT00D8021-40YP2-DA Overall dimensions (with manifold)
Please refer to the drawing of SUT00D8021-40YN-DA for missing dimensions.

dimensions in mm

719
397
e &
HO)°%
299 D
© @®
248 S R
211 offe —
19.8+L

=
JR— pressure port
1 detail
@25
{ AIR 3 w01
58.8 y — INTAKE i 524
‘® <= 37 bl
(D
2 oTo @R
\
=N
1505 o
. n°4 bolts
26.2204 M10x20

P | Pressure port: SAE 3000 1”

T | Discharge port: 3/4" BSPP

Suction port: SAE 3000 1 1/4”

s Suction flange kit 1 1/4” BSPP available
(NOTE 2).

Ordering code: 3906520021

Manifold for pressure selection and
unloading

2 Pressure sensor

Pressure relief valve
PRK10-250/12N/A554.

Pump switching valve
4 | type DS5-SA2/14N-D24K1/F

(catalogue 41 310). NOTE 1: Motor terminal block

information at point 13.

5 | Flow control valve, fixed adjustment NOTE 2: The suction flange

kit includes a BSPP threaded
6 | Checkvalve flange, OR seal, screws and
7 | Test point washers.

7.8 - Controller
Please refer to point 10 to find information relating to the controller for this motor pump.

96 520/424 ED 16/32



D SUT

SERIES 40

8 - SUT00D15021 (15 KW MOTOR)

Values obtained and rated for ambient temperature < 40 °C and fluid temperature < 60 °C

8.1 - Pump working range
The SUT00D15021 unit can run continuously within the continuous rating range (S1) given in this diagram. However, the range of operation
can be extended to within the short-time rating range for up to 20 seconds, provided it does not exceed 20% of the duty cycle.

p [bar] A
210 [s===L = HP pump continuous operation
175 fmmmmt— | : ------ HP pump short-time operation.
—: - N == HP + LP pumps continuous operation
140 \ T > ~ = == == == HP + LP pumps short-time operation
105 NG hnl N
- - Short time def: < 20% of duty cycle time
70 \\
\
35
0 30 60 90 120 150

Q [I/min]

8.2 - p/Q commands (analogue input)
Diagrams below show the behaviour of the p/Q commands both in combination flow mode and in single flow mode.

pressure command linearity . flow command linearity
PO [bar] “ QO [I/min] A
210 150
P
175 /’ 120
140 //
90
105
60
70 e =
/ A
35 oo
L L=
[ oo
o 1 2 3 4 5 6 7 8 9 10 0123456789107
ref Pl [V] ref QI [V]

HP pump == HP+ LP pumps

8.3 - SUT00D15021-40YN-DA Circuit block diagram (basic version)
The flow rate switching circuit between single pump and combined pumps must be prepared by the customer.

For cycles that include pressure holding for 3 minutes or longer, a bleed-off circuit equivalent to the capacity of a single pump running at
150 min-1 must be provided at the pump delivery side to cool the pump.

Please note that the pressure sensor is supplied spare with the pump. See details at point 12.

delivery manifold

(not included)
pressure —
pressure command Pl sensor signal IZ -
~
0...10v DC included, spare H 20.7
flow rate command QI -
0...10v DC
i PH PL
pressure monitor PO
PrEes e TR ™Y <«
0 _10vDC CONTROLLER uvw
flow rate monitor QO IPM Motor
-10..+10v DC Thermistor
3~380...440V AC 50/60Hz
> Encoder
1~200...240V AC 50/60Hz .
Cooling fan

96 520/424 ED 17/32



D

8.4 - SUT00D15021-40YP2-DA circuit diagram (with manifold)
The manifold mounted on the motor pump is equipped with a
pressure relief valve to protect the high-pressure pump.

To prevent overloading of the electric motor, the driver controls the
solenoid valve by discharging the flow of the PL pump, typically
when the pressure measured by the sensor at the TR point exceeds
70 bar (indicative value, depending on the analogue commands and
on the parameters set controller-side).

Both pumps work below this value.

Below are the main characteristics of the components for which
actions by the customer are required during commissioning.

PRESSURE RELIEF VALVE
description: PRK10-250/12N/A554

Adjust the valve to 10+ 15 bar above the operating pressure of the
motor pump.

47 bar / turn
spanner 13

pressure gain:
locknut tightening:

SOLENOID SWITCHING VALVE
description: DS5-SA2/14N-D24K1/F

The controller (output DO3) drives a power relay which in his turn
will switch the DS5 solenoid valve.

Power relay and 24V DC valve power supply are the responsibility
of the Customer.

electrical data of the solenoid valve :

Nominal |Resistance| Current Power IP dearee
voltage at 20°C |consumpt. | consumpt. (ng_E)
Y [Q] [Al W]
DC 24 12 2 48 IP65

cable: 1.5 mm?
relay requirements: 24V DC (max 50 mA) coil, single stable, with
diode coil surge killer, 24V DC 5A / 220V AC 5A contact rating.

Refer to catalogue 41 310 for more details on the solenoid valve.

NOTE: The IP protection degree IEC 60529 is only guaranteed
when the equivalent IP-rated connector is connected and installed
correctly.

Electrical connector type EN 175301-803 available separately. See
catalogue 49 000.

PL pump discharge through solenoid valve

Ap [bar] A
4

3.5

3

25 /

5 )
1. ‘/
/

0.5 1

0 -
0 10 20 30 40 50 60 70.9
Q [I/min]

96 520/424 ED

SUT

SERIES 40

HYDRAULIC DIAGRAM

By sm4"BsPP
T

TP TR _
M6-20.7)|(
P
1" SAE 3000 1SO 4401-05]
! 3 gin
1 y O <] ‘
o 5]
=
o — |
%J
_ . MANIFOLD
PH | PL
| (CE;% |
’ _ _ . SUT‘
S
11/2" SAE 3000
manifold Ap (P path)
Ap [bar] A
4
35
3 /
25 //
2 /
15 /
1 — //
0 —
0 30 60 90 120 150
Q [I/min]

18/32



D SUT

SERIES 40

8.5 - SUT00D15021-40YN-DA Overall dimensions (basic version)

dimensions in mm

795
213 ‘ 525

87T7 248—-‘ )

:
|
|
|

}
n. 4 slots @14.5 15 |la127-4-127—
| 279 |

% |
.F 5
‘ for M12 bolts

IPM motor cooling fan
PH PV (D (3 :

AIR
| e INTAKE

<O
Gear pump/ ”o > ﬁg +4

4:9 6] suction port

S
5.5 —= J N\ : @ f ﬁ n. 4 bolts M10x1.25 (fine pitch) V14
. 171 36 38
~— 204 —= [
35.7+0.3 7 17.3

1 o | “5

239 I T nll ’
o -
| T -
o @ y
1N T |
PH High pressure port: 69.910.3 J
SAE 3000 3/4”
~—109.8
pL | Low pressure port:
SAE 3000 3/4” pressure port
Suction port: SAE 3000 1 1/2” n. 2x4 bolts M10x1.25 (fine pitch) V14
s Suction flange kit 1 1/2” BSPP

available (NOTE 2). T PH @20 — PL @20

Ordering code: 3906520022 Y
ST M 17.3
1 Grease nipple (see point 14.2) | T i ﬁ 2 +
47.6£03 ' {p L)
2 Encoder connection + _:7\%:{% Q}?—i; «*
o i NOTE 1: Motor terminal block
3 n* 2 eyebolts for lifting information at point 13.
4 | Motor power supply port: @34 NOTE 2: The suction flange 22.2#03
. kit includes a BSPP threaded 22.2+03
Cooling fan cable port: @21 flange, OR seal, screws and : =—86.4
washers. ~——133.4

6 Motor thermistor port: @21

8.6 - Controller
Please refer to point 10 to find information relating to the controller for this motor pump.

96 520/424 ED 19/32



D SUT

SERIES 40

8.7 - SUT00D15021-40YP2-DA Overall dimensions (with manifold)

dimensions in mm

827
~— 247 411

|
I

97+4L 19.8 —

T
T pressure port
detail 225
4‘7 m m_ = o o r-
Qoo o1 AIR ~ 52.40.1
58.8 1026 1 R PR INTAKE I !
Yo = - = N
i _ ©) N
‘ Y Wy
: || ~ i
- \
$ - 7'—? /
I ©
——— 1724 0
. n°4 bolts
26.2 201 M10x20

P | Pressure port: SAE 3000 1”

T | Discharge port: 3/4" BSPP

Suction port: SAE 3000 1 1/2”
Suction flange kit 1 1/2" BSPP available

S | (NOTE 2).
Ordering code: 3906520022
1 Manifold for pressure selection and

unloading

2 Pressure sensor

Pressure relief valve
PRK10-250/12N/A554.

Pump switching valve
4 | type DS5-SA2/14N-D24K1/F

(catalogue 41 310). NOTE 1_: Motor t(_arminal block
information at point 13.
5 | Flow control valve, fixed adjustment NOTE 2: The suction flange

kit includes a BSPP threaded
flange, OR seal, screws and

7 | Test point washers.

6 | Checkvalve

8.8 - Controller
Please refer to point 10 to find information relating to the controller for this motor pump.

96 520/424 ED 20/32



D

9 - SUT00D20025-40YN-DA (22 KW MOTOR)

Values obtained and rated for ambient temperature < 40 °C and fluid temperature < 60 °C

9.1 - Pump working range

SUT

SERIES 40

The SUT00D20025 unit can run continuously within the continuous rating range given in this diagram. However, the range of operation can be
extended to within the short-time rating range for up to 20 seconds, provided it does not exceed 20% of the duty cycle.

pressure command linearity
PO [bar] A

250

200

150

100

50

o 1 2 3 4 5 6 7 8 9 10

'

ref PI. [V]

9.2 - p/Q commands (analogue input)

QO [I/min] ‘

200

160

120

80

40

flow command linearity

—

—

1 2 3 4 5 6 7 8 9 10
ref Ql. [V]

HP pump HP+ LP pumps

Diagrams below show the behaviour of the p/Q commands both in combination flow mode and in single flow mode.

p [bar] A
250 T
1
1
200 1
11511 " S ——
~,
=~ -~
100 ~ .
~—_
50
0 t—
0 50 100 150 200
Q [l/min]

9.3 - Circuit block diagram

HP pump continuous operation
HP pump short-time operation.
HP + LP pumps continuous operation

= == == == HP + LP pumps short-time operation

Short time def: < 20% of duty cycle time

The flow rate switching circuit between single pump and combined pumps must be prepared by the customer.

For cycles that include pressure holding for 3 minutes or longer, a bleed-off circuit equivalent to the capacity of a single pump running at

150 min-1 must be provided at the pump discharge side to cool the pump.

The pressure sensor is always supplied. See details in point 12. The intermediate flange to fit the pressure sensor is available separately (item

no. 7 point 9.4).

(not included,
can be ordered separately)

pressure command Pl pressure sensor
0..10v DC included, spare
flow rate command QI
0...10v DC
pressure monitor PO
010V DC CONTROLLER Uvw
flow rate monitor QO IPM Motor
-10..+10v DC Thermistor
3~380...440V AC 50/60Hz
Encoder
1~200...240V AC 50/60Hz .
Cooling fan

96 520/424 ED

PL

21/32



D SUT

SERIES 40

9.4 - SUT00D20025-40YN-DA overall dimensions

dimensions in mm

897
230 —= 610 366
87— 388 —— 2 36.5 218
(F’L) _
PH)
r PR ° ﬁ
292 CHEEEE ,7,4,,7,4,9,* 272 —
193192 ! L] - 12236
Ll /8 e 1|

1

i i
«F* 37 J | n. 4 slots @14.5 1274127
97 -~ 208 for M12 bolts 279

303
? ? 1 IPM motor  cooling fan
128 \m
5 ' AIR
L u . e = INTAKE
——|[INYW—= _ ] <
Gear pump, ————————————— = '7
| {Q N 49 67
9 J bl
- 172 36 suction port
— 204 —= n. 4 bolts M10 V20
e— 239 —= suction 3203 )
43 03 (= ‘ — 19.1
—n* @ 4$i L
JF@\@A
| [
! ——— & o |
58.7 0.3 o — —

PH | High pressure port: SAE 3000 1" 38 0.3
64.8—

PL | Low pressure port: SAE 3000 1”

pressure port

Suction port
g | Suction flange kit 1 1/2" BSPP available n. 2x4 bolts M10 v20
(NOTE 2).
Ordering code: 3906520023 PH @25 7 v PL @25
1 | Grease nipple (see point 14.2) NOTE 1: Motor terminal block * | W 5 __19.1
2 | Encoder connection information at point 13. 50 4:03| %} \;@_ ‘
: — NOTE 2: The suction flange N — Rli=
3 | n°2eyebolts for lifting kit includes a BSPP threaded ! s hadhis
. flange, OR seal, screws and ! -
4 Motor power supply port: @34 washers.
- 26.20.3
5 Cooling fan cable port: @21 NOTE 3: The intermediate
) . flange kit includes a special 26.203 -~ 64.8—=
6 | Motor thermistor port: @21 flange with seat for the pressure 1276

Intermediate flange kit (NOTE 3). transducer, its restrictor @0.7
To be ordered separately, code 3906520024 | and the OR seal.

9.5 - Controller
Please refer to point 11 to find information relating to the controller for this motor pump.

96 520/424 ED 22/32



D SUT

SERIES 40

10 - 11 KW AND 15 KW CONTROLLERS

Controllers of SUT00S5021 and SUT00D8021 (11 kW), and SUT00S10021, SUT00S13021 and SUT00D15021 (15 kW) have the same
dimensions. Instead, the wiring and the electrical accessories differ depending on the motor power size and on the type of pump (single or
double). Please read the installation notes at the end of this catalogue.

10.1 - Overall dimensions

dimensions in mm

AIR ‘ 180 ' n.4 M6 bolts
EXAUST 12 ‘ ‘ /
J . — 08
N g
Qebe——e=—n]l] | a
q @
® |8 2 1
of [ (o]
® [C]e]O]
233 s
379 55 )
328 361 o |ES
0 =

95.5 2 -
l A U;I,
AIR
—=39 = INTAKE 5 5
207 25 \ 180 \ 25
212 Li 240 4—J

1 | Control panel display

Main supply terminal block
M6 screws

1/0O terminal block
M3 screws

4 | GND screw M6

5 | Fans for cooling

6 | Product label

7 | Controller label

96 520/424 ED 23/32



SUT

SERIES 40

's|re1ap 10} (6SS00NId™ N3) [enuey uoneladO uonodUNS [0JIU0D SI0WS¥H/UOITEIIUNWIWOD SY) 0 19}oY "AJUO UONBIIUNWWOD G8%SY 10} PASN Gx
'a|qissod se 1oys se yibua| alim ayl axe\ ‘|9jieted ul sioisisal Buijelq g Jo UOIO3UUOD 10} SIS SUIYIRW Urew ay) Uo 20|q [eulwsa) e aredaid asea|d x
*Ajuo suoneoynads sdwnd a|gnoqg £«
'splepuels DN ay1 yum Ajdwod 0) papasu SI uone|elsul SIi Se ‘SallosSSadde [ea11109[8 8yl Jo 11 8yl ul palddns g,
'S3110SS3J9k [221110913 3y} 0 1y ay} ul palddns ‘Led jeuondo T«

10.2 - Wiring diagram of 11 kW controllers (for SUT00S5021 and SUT00D8021)

- % SSINYVH JOSNIS FNSSId
gx 3nwaaionatos { 193 b }10s £
| x SSINYVH ¥3A0ONI
aum Jied pajsimy
210 10 (ZZOMY) - WW €0 = = = =B
_ NOILONNH NOILYOINNINWOD ﬁn_._%m X _
T LR | 987SY ONISN NIHM LOINNOD | “TXH 10 |
HOSNS| -
34NSSIed axdt [o
NS5 _ azsann{ [T |0 _
- - I
ol gp ai0w J0
p °| yz (zzomv) ;ww g0
(UM-PHAAH) IYYMLAOS JONYNILNIVIN mmw_ °r 1% NOLLYOINNNINOD
(uondo) NOILYOINNWINOD D2€ZSH ¥O4 | anoa Mw VIE3S «
NOWWOD JAILYOIN/NOWWOD JAILISOd  WODIT [o1— W dOLS/LVLS »
¥OLO3NNOD leubis JOLS/LHVLS Ha fotz
¥3000N3 [H — 2d |o
¥3000N3 1z
a3asnNn €1d |o e + YIIMm payJew
2 x 3dIS ¥Y31T04LNOD ¥I1d |o 0z Swa)l 8y} oYM
SUNTZ - 3900 ONIY LNANESNIHOLIMS ALIOVAVO dNNd 510 ot qissod uopesado,
91a [o
6l
omm:z:ﬁ 210 fof op
1 301S ¥ITIOHINOD 8a [of o/
uL) _ (318v0 L1oA) g TYNOIS AQYIY NOILY¥3dO  +0d [o
[ (3180 30) 2wy &\ FO00 ALl a3asnNn - zoa |of ;7 ¥3TI0¥LNOD
GEN € % LNALNO ONIHOLIMS ALIOVAVO dNNd €00 ot
® 1NdLNO ONINYYM QYOTHIA0  ¥OQ [ot7 INIHOVIN ¥3sN
T - §S0d |o 6¢
N ) ol | M a3asnNn 90d |o| o alow Io
[0 A [HOLON £04 o] g¢ (zzOMY) W €0
810 N 7 yorgisay  NONNODIALYOINNONNOI IAILISOd  WODOT (o1 X
117 zalHoLsa N3OV WV VNV ol
L % HOLSISTY ool ‘8 d3s010 § W1V 8_NTV |orer HOLINOW WYV TV
ONDIVEE 504 5N4 ”_ S° wm ¥010Y34 90 WYYV 440-43MOd 18 o) _\v_,w< olge
v \S+ [of
NV 1 — € M €| A1ddNS HOSN3S m_m:mwm_mmﬁ S d|of [4)
dINNd-YOLOW N/ _ — 4 ¢1( 43IMOd NIV ANOY [0y —
3 Id
1ns j el (cma) /A g ONVIWWOO 3nSS3d { g 05 [T7E 1 } anvino 3unssaud
S'EN BI0W 10 , WWgZ (X U 89) |_m6_m_ (@) o ) ' \
b % HOLS IS En) ANVYWNOD 1V MO A anov |oEE / woz%_zoo U4 MO
= 6 |
T L% ONDIvHE HYOLINOW J¥NSSI™d A azmu ZE 1 T ?o:zoz J4NSSINd
M92/5Z LNdLNO T 3 ' T
Q3LVHV LL0/LL0 INFHENO N HOLINOW 3LV MO A ozww R T To:zos_ IL¥8 MOTH
Q3Lv¥ ZH 09/05 AOVZ-00Z ~ b T A N —
(318¥0 410A ‘318v2 39) HOLSINYIHL HOLOW A WHL |oToE
Zx 3018 N4V LWW S0 3
SWnjS - 3400 ONIY 10w Jo
= (zzomv) ;ww g0
(378v0 10A) cwiwg ssowey s
(378v0 30) ;wwg ¥3A0ON3 ym papnjou]
319V0 ¥3IMOd | g3aNannooay 3400 3119
VOE ALIOVAYO ¥INYINE
VAN 102 Xew
2H 09/0S AOYY-08€ ~ €
T % /3013 ¥ITIONINOD
253347 Rhiemioy ¥3TIONLNOD LNS

24/32

96 520/424 ED



D

10.3 - 11 kW Electrical accessories

This kit is suitable for SUT00S5021 and SUT00D8021. The kit includes the electrical accessories needed to wire the controller, featuring the
connection cables for the encoder and the pressure sensor. A DC reactor, effective in improvement of the power factor of the power supply line

is also included.

SUT

SERIES 40

The kit can be ordered separately. Ordering code: 3906520010 PM-SOP23D - 11kW

dimensions in mm

extended.

DC REACTOR labelled as: PM-SLD04
height: 95 mm
round terminal: M5 with insulating coating
wire length: 140 mm
Q.ty. 1 pc.
e— 105 —=
=7
7 —7 |
92 112
4-5.5x8 —~ 1

NOTE: Connect the wire directly to the controller.-It cannot be

ENCODER HARNESS labelled as: PM-SEH-P22-A09R
round terminal: M3 with insulating coating
length: 5m

Q.ty 1 pc.

\\
=il 0 —;
\

Li 5000

BRAKING RESISTOR

labelled as: PM-RB06

type: 68 Ohm /500 W
height: 30 mm
round terminal: M4 with insulating coating
wire length: 500 mm
Qty 2 pcs.
5. 3
320
‘ 335 w

PRESSURE SENSOR HARNESS
labelled as: PM-SPH05-001

round terminal: M3 with insulating coating
length: 5m
Qty 1 pc.

N M
= o s <2
\ —

L— 5000 ——j

NOTE: When relaying on a terminal block, etc., keep the wire
length as short as possible. The resistors must be installed outside
the electrical panel, as they heat up a lot.

BRAKING RESISTOR FUSE labelled as: PM-FUDO06

DIN rail width: 35 mm
built-in fuse type: PM-FURB-C0008
Q.ty 1 pc.

22

- 76

55
?. ,,,,,
M5 —# *‘—L DIN RAIL 35.2

NOISE FILTER labelled as: PM-SNF06
height: 78 mm
Q.ty 1 pc.
4.3x5.5 M4x3 M4 x4
! — SEE L 13l
50 32 [ lofL 2 L 2'[oflcjl@
| ? oflolL 3 L 3'[olle}
* L— 140 —J
150
RING CORE labelled as: PM-SRCO01

yellow tape on the ring side

Qty

3 pcs.

NOR!
174—1*

FERRITE CORE
Qty

031.7i
@14

labelled as: PM-FC01
1 pc.

96 520/424 ED

25/32




SUT

SERIES 40

10.4 - Wiring diagram of 15 kW controllers (for SUT00S10021, SUT00S13021 and SUT00D15021)

*$9109 Bull oM} 8Y) JO YIBS 10} UIN} SUO S)EW PUB SZIS SWES ay)
10 2100 BuL BUO PPE 0} PAPUBWILODAI SI }I ‘B|geDd | DA By} Buisn usyp

3031d ¥3d NYNL | ‘'s3031d ¢ 3031d ¥3d SNiNL T

A A

A

‘s|re1ap 10} (6GS00NId~ N3) renuely uoiresadQ UOROUNS [0UO0D S10WAH/UOREIIUNWWOD 3} 01 18}y AJUO UOITRIIUNWWOD G87SY 10} PASN Gk

"a|qissod se 1oys se

yIBua| a11m ay1 eI “|8|esed Ul S101sISal Bupfelq ¢ J0 UONIBUUOD 10) BPIS BUIYORW Urew 8y} Uo %20|q [eulwls) e aredald ases|d

‘Aluo suoireayoads sdwnd ajgnoq €«

'sprepuels DIAT 8yl yum Ajdwod 0] papaau SI uoie|elsul Sl S ‘S8lI0SSad0. [e011108]9 aY) 0 11y ay) ul palddns gz,
'S8110SS929€ [BI11199]9 8y} Jo 1Y 8y} ul palddns ‘wed reuondQ T«

08 [&5) I % SSINUVH JOSNIS FdNss3ud
€% INTVA o_oZm_._oijow W._owmxn.
sseurey sy | % SSANYVH 943A0ON3
M papniou|
suny ¢ aum Jied pajsimy
3400 ONIY 10Ul 10 (ZZOMY) MWW €0 = = = =i
_ NOILONNA NOILYOINNININOD * RS _
TooEs mo“%ﬂ%o | S8YSHONISN NIHM 103NNOO | [giy (ol
-axL |o
EXYIE| R _ azsnnn { 2 _
— _ 4 T
°l gy alow Jo
o .
vz (22oMV):ww g0
-pugAh
(UM-PHGAH) FHYMLIOS FONYNILNIVI o4 ot 7% NOLLYOINAWINGO
(uondo) NOILYOINNWINOD 02€2SH ¥O4 | anoa |of MM WVIY3S «
NOWWOD JALLYOIN/NOWWOO JAILISOd  WOOIT ot = T_okwpmﬁm i
¥OLOINNOD [eubls dO1S/1MVLS 11Q |ot5p
¥3000NIH " c00ng 2a|o| /7
assnnn * €1 |o v » Uim paysew
¢ % 3dIS ¥3TI0YINOD v1a |o 0z SWwa)l 8y} INOYIM
(3719v0 LOA) wy) suIn - 3400 ONIY € % LNdNI ONIHOLIMS ALIOVdYO dANd sla 52 a|qissod uonesadQ,
(3718v0 30) ;wwol ﬁ Id || 5/
a3snnn 210 [o
v
301S ¥3TI04LNOD 81a [o| g
30IS ¥OLOW 2 %\ 3400 AL1Yy3d YNDIS AQVIY NOILYH3dO  10Q oy Y371104INOD
ENRENTER] a3snNn - codjof |
@  ©%1NdLNO ONIHOLIMS ALIOVAYO diind €00 |o155 INIHOVI ¥3sN
H@ LNdLNO DNINYVM QVOT¥3A0  ¥OQ [otoy
1 - 500 [o| ge
1 ore| M aasnNn{ 90d|o sJ0W 10
- - A »HOLOW Sb
\ 61 n £0d |o| oo (zzOMY) ww €0
- —— 3 NOWNOD SNLYOININONHOD 3AILISOd  WOOOQ oty
]3| cayBolsieay N3dO V_W1V VN [o1 7
| % HOLSISTY 90| L8/ ONDivaE a3aso1o8 Wiv NV o5y HOLINOW WYYV
”_ HOLOVIY 00f—¢0| &d wmohoﬁ_x YTV 440-43MOd 18 WY |o
ONIYYYE 404 3SN4 L x o lof 1d o0 PN
— o m”__ Alddns HOSN3S mx:mwumn; S d|of mM
diNNd-4OLOW — wa }7 J¥3amod Nivw ozo_M oy —
Ty ANVINNOD 3dNsSs3dd A 3 I\ w ANYINWOD JHNSSTHd
Lns ® aNSY |orgr 1
— ;
1+ A M aNVAINOD 31vd MOT4 ozo_w £ X } anviinoo 31w o
6 |
M9Z/SZ LNALNO QaLvY T (oum A asow /D HOLINOW 3unss3ud { 29 |°Tze T } oL 3unssad
VIL0/ALL0 INTHENO A3V —Bawss (0 89) ANOY (o1 i
ZH 09/0G AOVZ-00Z ~ L T volsisay 7% HOLINOW 3LV MO A 00 forpe ] fok_zos E
Lx ANSY ot
3aisNv4ov/ ONDIVEE HOLSINYIHL ¥OLOW { xnw °Joe
Sul G- 3900 ONIY &% (318v0 4107 '378v0 30) L~ v ol
MWW G0 —— v 6¢ __ \ aJow Jo
= 301S ¥3TI0HINOD ! “ “ ! +g m | (CZOMY) s W £0
(379v0 LOA) wwy| T X Y00 LN Z % alo _\N __
(378v0 30) wwg 3 K ¥3000N3 +Z ot 75—
ERELARE VG [P——" ® ® -z ¢
Y0¥ ALIOYdYD Y3NVIHE T o8 € €1 &l |
VA 8VE Xew  —Zq z1 2 zZ1 21
ZH 09/0G AOVY-08E ~€  —17 m_v._: ,:_.._w 11 _:_.._w
2% /301 ¥ITI04INOD
IEIRE
TRy gx 3L SN2 3963 SN Y3T10¥LNOD LNS

26/32

96 520/424 ED



D

10.5 - 15 kW Electrical accessories

SUT

SERIES 40

This kit is suitable for SUT00S10021, SUT00S13021 and SUT00D15021. The kit features the electrical accessories needed to wire the
controller, including the connection cables for the encoder and the pressure sensor. A DC reactor, effective in improvement of the power factor

of the power supply line, is also included.

The kit can be ordered separately. Ordering code: 3906520011 PM-SOP24D - 15kW

dimensions in mm

DC REACTOR labelled as: PM-SLD04
height: 95 mm
round terminal: M5 with insulating coating
wire length: 140 mm
Q.ty. 1 pc.
f— 105 —=
=7
T —7 |
92 112
4-5.5x8 —~ i

NOTE: Connect the wire directly to the controller.-It cannot be
extended.

ENCODER HARNESS labelled as: PM-SEH-P22-A09R
round terminal: M3 with insulating coating
length: 5m
Q.ty 1 pc.

\
% | 7 |
\

Li 5000 I

BRAKING RESISTOR labelled as: PM-RB06

type: 68 Ohm /500 W
height: 30 mm
round terminal: M4 with insulating coating
wire length: 500 mm
Q.ty 4 pcs.
! _
s b Ciad
P
5.3
320
‘ 335 w

NOTE: When relaying on a terminal block, etc., keep the wire
length as short as possible. The resistors must be installed outside
the electrical panel, as they heat up a lot.

PRESSURE SENSOR HARNESS
labelled as: PM-SPH05-002

round terminal: M3 with insulating coating
length: 5m
Q.ty 1 pc.

— I_\.\
=0  wa—
R\

—/

L— 5000 ——J

NOISE FILTER labelled as: PM-SNF06
height: 78 mm
Q.ty 2 pcs.

4.3x5.5 M4x3 M4 x4

0 gf\k%/ﬂ 1
tf: 140LJ

150

a

WN =
ololo
AN
©

BRAKING RESISTOR FUSE labelled as: PM-FUDO08

DIN rail width: 35 mm
built-in fuse type: PM-FURB-C015
Qty 1 pc.
== | 22
- 76
o 55

? ,,,,,
M5 —~ J—L DIN RAIL 35.2

RING CORE
labelled as: PM-SRCO01

yellow tape on the ring side

Qty 1 pc.

@24
=y

labelled as: PM-SRC02
green tape on the ring side

Qty 2 pes.
@25.7 3@ ﬂ
J48.5

16.3

96 520/424 ED

27132



D SUT

SERIES 40

11 - 22 KW CONTROLLERS
These controllers are supplied with SUT00D20025 models only.

11.1 - Overall dimensions

dimensions in mm

AIR 3 ‘ 226 | n. 4 M6 bolts
EXAUST 1
ﬁ f i — @8
25 &
q | )
: (D
ol a4 |
D
236.5 //@
371
i p @
137
5 @
@
i g A
{ 19
AIR
] 42 INTAKE 5
238 4—L*17
240 4J

1 | Control panel display

2 Main circuit terminal block
M8 screws

3 1/0 terminal block
M3 screws

4 | GND screw M8

5 | Fans for cooling

6 | Product label

7 | Controller label

96 520/424 ED 28/32



SUT

SERIES 40

11.2 - Wiring diagram of 22 kW controller (for SUT00D20025)

‘9100
BuLl oM} BY} JO YOBS 10} UIN} BUO SHEW PUE SZIS SWES dY) JO

2100 Bul BUO ppe 0) PapUBILIODAI SI }I ‘B|geDd | DA By} Buisn usyp

3031d ¥3d NYNL | ‘'S3031d @03Id ¥3d SNYNL ¢

—PRAP Dl

‘s|ieap 104 (65G00NId N3) [enuey uoiresadQ UOdUNS [0JJU0D BJOWSY/UOHEIUNWWOD By} 0} 19)9Yy "AJUO UOITEIIUNWIWOD G8%SY IO} POSN tx
‘a|qissod

se Joys se y1bua| aim ayl axen ‘|ajjesed ul siolsisal Buielq 9 JO UONIBUUOD 10} BPIS BUIYIBW Urew 8y} Uo %20|q [euiwsa) e aredaid ases|d £«

'sprepuels DN ayl yim Aldwod 0} papaau S| Uoie|elsul SH Se ‘SalI0SSadJe [ed1109]3 3y} JO 1Y ay} ul palddns z.

'S9110SS829® [e211199]9 8y} 4O Iy 8y} ul paljddns ‘ped jeuondo T«

B [€>) | x SSINYVH JOSNIS JunssIud
3IATVA AIONITOS me Q w 10s
| x SSANYVH 43A0ON3
ssauley siy)
E ypm papnjouj
suiny ¢ alim Jied pajsimg
3400 ONIY 210W 10 (ZZOMY) W €0 = = = =K
_ NOILONNH NOILYOINNWINOD *a.uwm ° _
n 58vSY ONISN NIHM LOINNOD
HOSN3S mo“%mﬂ%o | +axy [o| |
-axL |e
HNSS3¥d| pynssaud _ d3sNNN 4 Lax1 o _
_ _ ox [EN] T
REN 1% aiow Jo
owH o| yz (zzOMY) ww g0
(UIM-PHGAH) THVMLI0S FONYNILNIVIN wod [ IXLierTy NOLLYOINANIGD
(uondo) NOILVOINNINWOD OZ€2SY ¥04 | anoa Mw TVIE3S
NOWWOD JAILYOIN/NOWWOD JAILISOd  WODIT [of— T_okmpmﬁm .
WOLOINNOD |eubis dOL1S/LYVLS 40 oty
¥3000N3H 21d fo
¥3000N3 1z
a3isnnNn €1d |o s » UM pasiew
¥1d |o 0z Swia)l 8y} oYM
1NdNI ONIHOLIMS ALIOVAYD dWNd S0 orer alqissod uoessdo,
ad fo
61
) (3180 10A) Wy, 3dIS ¥ITTO¥LNOD a3snNn * m“m M 44 HITIOHLNOD
8l
M) | (3180 30) ol 7% Swm g TYNDIS AQVIY NOILVY¥IdO 0T oty
W] JHOO ONIY a3snNn - 20d|o| ;¢ ANIHOYIN
GEN 1NdLNO ONIHOLIMS ALIOYdYO dWNd €00 for
L ® 1NdLNO ONINYYM QY030 YO |orgr ¥3sn
[GFS f soa1e| e
N M ] M DmWDZDﬁ 90d |o Sl aJow Jo
| A HOLOW £0Q |of o (2ZOMY) ;wi €0
Ater n NOWHOD 3NLYOINNONNOD 3ALISOd W00 (ot
[ow] 9 N3O V_W1V VNV o1
1 YOLSISTIONNYYE  @3SO1D 8 WY N |o HOLINOW WYV TV
o | % ¥OLSIS3Y ”_ | d WEYTY '440-4IMOd OV [ol 2-
[n] ONIIVYE 404 3SN4 o|Fa yroima800 ng+ o] SE A
— €1 YOSNIS INSSIUd sd t
e —F—— v ol 21 Ti%wxmgs NIV anov |olfE U
dINNd-4OLOW T h Id |of % A
ns o Yy ANYWNOO mmamwumi anow |oFE A woz<_>_s_ou 34NSSINd
e ® or f
o /
Ly En| ANVINNOO 31vY MOT4 A anev |oIEE H woz%soo 31vd MO
3 |
M 92/5Z LNdLNO a3Lvy W HOLINOW F8NSSTHd A Odjorzg T ?o:zo_\,_ FNSSIUd
V LL0/LL'0 LNIHEND a3Lvy — anNSYlors t
ZH 09/05 AOVZ-002 ~ | W HOLINOW J1VH MO A anov |oE ] T_o:zo_z 31y MO4
AA N
(378v0 419 ‘378v0 39) (21m Al) 210w YW HOLSINYIHL HOLOW A ﬁﬁ °[08
AUW G0 10w G'g (9% 89) ¢ x v |l
“ohbivaa X NARAI 0w o
(zzomy) ;ww €0
(378v0 10A) , ww g¢
(378v0 30) cww g1 ¥3A0ON3
FNEVOHIMOA | g3q\anmooay
Y05 ALIOVdYD Y3NYIHE
WAY 028 Xew
ZH 09/05 AOVH-08E ~ €
REISE
2% 3510N

29/32

96 520/424 ED



D

11.3 - 22 kW Electrical accessories

SUT

SERIES 40

This kit is suitable for SUT00D20025. The kit features the electrical accessories needed to wire the controller, including the connection cables
for the encoder and the pressure sensor. A DC reactor, effective in improvement of the power factor of the power supply line is also included.

The kit can be ordered separately.
Ordering code: 3906520012 PM-SOP25D - 22kW

dimensions in mm

DC REACTOR labelled as: PM-SLDO05
height: 180 mm
terminal: M8 crimp terminal
wire length: 140 mm
Qty. 1 pc.
133
I
iy N
(3 )
405 3x8 H}:’%@ 5 H 100
long hole @@ MAX 150
ol e 1. |

NOTE: Keep the wire length as short as possible. The wire diameter
should be equal or larger than the power cable.

ENCODER HARNESS
labelled as: PM-SEH10-P22-A09R

round terminal: M3 with insulating coating
length: 10m
Q.ty 1 pc.

BRAKING RESISTOR labelled as: PM-RB06

type: 68 Ohm / 500 W
height: 30 mm
round terminal: M4 with insulating coating
wire length: 500 mm
Q.ty 6 pcs
5. 3
320
w 335 w

NOTE: When relaying on a terminal block, etc., keep the wire
length as short as possible. The resistors must be installed outside
the electrical panel, as they heat up a lot.

PRESSURE SENSOR HARNESS
labelled as: PM-SPH10

round terminal: M3 with insulating coating
length: 10m
Qty 1 pc.

= |_\.\
=i —
L

L— 10000 4—1

BRAKING RESISTOR FUSE labelled as: PM-FUD09

DIN rail width: 35 mm
built-in fuse type: PM-FURB-C020
Q.ty 1 pc.

2

- 76

55
?. ,,,,,
M5~ A—L DIN RAIL 35.2

NOISE FILTER labelled as: PM-SNF07
height: 84 mm
Qty 1 pc.
M5x6 M5
4-5.3x6.5 L1 L1 ; ?
long hole t g IE % 44 65
~ B Ry
162
177
RING CORE
labelled as: PM-SRC02
green tape on the ring side
Q.ty 1 pc.
325.7 @ ﬂ
248.5
16.3

96 520/424 ED

30/32



D SUT

SERIES 40

12 - PRESSURE SENSOR

The pressure sensor is supplied boxed with all the SUT basic models. The sensor must be placed as close as possible to the pump delivery
(HP pump in SUT00D*) and, in any case, no more than 1.5 meters from it. SUT models with the manifold on-board are delivered with the
pressure sensor already installed.

The pressure sensor harness is included in the kit of the electrical accessories. The kit can be ordered separately.

NOTE 1: Customers that buy a basic model must provide a fixed throttle @0.7 mm upstream the pressure sensor inside their
manifold, in order to prevent pressure peaks that may destroy it.

dimensions in mm

218.5%1

ﬂ—‘r 26 0.3
L 38" BsPP P B i

22 1 3/8" BSPP

1
|
R0.2 —
| 259 T l
1 ~34.4-+16

6
A T
2 L L’—

R |

45°+ : :
8 ‘ \/ Electrical connection
T 1 | The harness is available in the electrical

accessories kit (to be ordered separatel
0.5x45° ( parately)

0.5

1

—_

2 | Seal type supplied

3 | M6 seat for fixed throttle @0.7 (see NOTE 1)

13 - MOTOR TERMINAL BLOCK

2 xM3.5
terminal block for motor thermistor
M6 screw 2 x M3.5
for motor Earth terminal block for AC cooling fan
V © ® ; N
Ol (s
del] [® © 113
Bl 2
3 M6 ¢ 2 oA
terminal block &
for motor cable / %7 NOTE 2: SUT versions with the motor terminal box on
" the opposite side can be supplied on request only.
192 Please forward your request to our Sales department.

14 - INSTALLATION NOTES

14.1 - Hydraulic fluid
Use mineral-oil base hydraulic oil. The use of hydraulic oils other than mineral-oil based type (e.g., hydrous/synthetic) is prohibited.

14.2 - Lubrication

Grease with a grease gun from the grease nipple regularly. The recommended grease is Shell Stamina Grease: RL-2 or EP-2.
The recommended lubrication amount is 70 cm3, and the recommended greasing interval is once every 3 months.

14.3 - Wiring / installation notes and warnings
= Controllers must be installed vertically, in an electrical cabinet IP54 with proper ventilation.

= Ensure at least 100 mm of clearance space above and below the controller to guarantee sufficient airflow for cooling, and 30 mm on both
sides for wiring cables and heat dissipation.

= Ensure at least 100 mm space around the motor pump.
= The allowable fluctuation range of the controller power supply voltage is -20...+10%. Even if the power supply voltage is within the allowable

96 520/424 ED 31/32



D SUT

SERIES 40

range, a power supply voltage fluctuation in the positive direction may result in an alarm output (regenerative overload etc.), depending on
the operating condition and load condition, causing the pump to stop.

= If the load voltage is large, excessive regenerative power is generated when the controller power supply is turned OFF in high-pressure
holding status, which may result in damage to the controller. Do not turn OFF the power supply in high-pressure holding status.
= Basic models are without safety valve. Be sure to install a safety valve on the main machine side.

= Models with unloading manifold are equipped with a pressure relief valve (PRK10) for safety function. The PRK10 is supplied with
adjustment at minimum value. The adjustment must be set during the commissioning of the system at 10+15 bar more than the
working pressure of the motor pump. The working pressure of the motor pump is settable from the SUT control panel.

= Do not provide any in-line check valve on the delivery port, or load pressure reduction control will be disabled.
= To operate this unit in a circuit with an accumulator, protect the pump with a check valve to prevent reverse flow of hydraulic oil from the
accumulator to the pump.

= When the power supply is turned OFF, the motor serves as a generator due to reverse flow of hydraulic oil, causing damage to the
controller. If load is applied to the pump when the power supply is ON, the motor may not start up properly. Keep the pump under no load for
5 seconds after power-ON.

= Provide a surge absorber for each inductive load connected around the controller (electromagnetic contactor, electromagnetic relay,
electromagnetic valve, solenoid, electromagnetic brake, etc.).

= To start and stop the hydraulic unit, use the start and stop signals of the unit, without using an electromagnetic contactor. Make sure that the
hydraulic unit has completely stopped before turning the electromagnetic contactor ON/OFF. Otherwise, power supply circuit devices may
be damaged.

= Be sure to connect the neutral point of the power supply to a ground line. If the insulation distance is too short, it may cause a failure of the
hydraulic unit.

15 - SETTING FUNCTIONS REMOTELY

15.1 - Managing the pressure and flow rate from a machine

The information that the SUPER UNIT outputs during machine operation, such as pressure and flow rate, can be displayed on the monitor at a
machine. RS232C is adopted for the serial communication interface. Provide a controller such as a PLC or touch panel display with the
RS232C communication function at the machine side.

By continuously collecting data from the SUPER UNIT, it is possible to determine machining faults, diagnose machine failures, and use the
data for predictive maintenance. For details on the communication procedure, refer to the Communication/remote control function instruction
manual.

15.2 - Hybrid-win software

The software's graphical interface enables real-time monitoring of operating data, parameter reading and setting, and tracking of alarm and
warning history.

The Hybrid-Win software is compatible with Microsoft Windows OS. To connect the Hybrid SUT to a PC, a cable connection kit is required. the
kit can be ordered separately (see catalogue 96501 SUTPC).

The Hybrid-Win software can be downloaded from the Duplomatic MS website, from the product page.

16 - ADDITIONAL DOCUMENTATION

Instruction Manual PIM0O00657 provides instructions on commissioning, configuring the SUT and troubleshooting. Our Customers can
download this manual both from the Reserved Area and from the Product Page in the Duplomatic MS website, using their own account.

D U PLO MATi C DUPLOMATIC MS Spa

via Mario Re Depaolini, 24 | 20015 Parabiago (M) | Italy

T+39 0331895111 | E vendite.ita@duplomatic.com | sales.exp@duplomatic.com

a member of DAIKIN group duplomaticmotionsolutions.com

96 520/424 ED REPRODUCTION IS FORBIDDEN. THE COMPANY RESERVES THE RIGHT TO APPLY ANY MODIFICATIONS. 32/32


https://duplomaticmotionsolutions.com/en/sut-high-accuracy-servopump.html
https://duplomaticmotionsolutions.com/en/sut-high-accuracy-servopump.html

1 - IDENTIFICATION CODE
1.1 - Single pump versions
1.2 - Double pump versions

2 - SPECIFICATIONS

3 - SUT00S5021 (11 KW MOTOR)

3.1 - Pump working range

3.2 - p/Q command voltage

3.3 - SUT00S5021-40YN-DA circuit diagram (basic version)

3.4 - SUT00S5021-40YP1-DA circuit diagram (with manifold)

3.5 - SUT00S5021-40YN-DA overall dimensions (basic version)
3.6 - Controller

3.7 - SUT00S5021-40YP1-DA overall dimensions (with manifold)
3.8 - Controller

4 - SUT00S10021 (15 KW MOTOR)

4.1 - Pump working range

4.2 - p/Q command voltage

4.3 - SUT00S10021-40YN-DA circuit block diagram (basic version)
4.4 - SUT00S10021-40YP1-DA circuit diagram (with manifold)

4.5 - SUT00S10021-40YN-DA overall dimensions (basic version)
4.6 - Controller

4.7 - SUT00S10021-40YP1-DA overall dimensions (with manifold)
4.8 - Controller

5-SUT00S13021 (15 KW MOTOR)

5.1 - Pump working range

5.2 - p/Q command voltage

5.3 - SUT00S13021-40YN-DA Circuit block diagram (basic version)
5.4 - SUT00S13021-40YP1-DA circuit diagram (with manifold)

5.5 - SUT00S13021-40YN-DA Overall dimensions (basic versions)
5.6 - Controller

5.7 - SUT00S13021-40YP1-DA Overall dimensions (with manifold)
5.8 - Controller

6 - SUTOOD*- DOUBLE PUMP UNIT OPERATION

7 - SUT00D8021 (11 KW MOTOR)

7.1 - Pump working range

7.2 - p/Q commands (analogue input)

7.3 - Circuit block diagram

7.4 - SUT00D8021-40YP2-DA circuit diagram (with manifold)

7.5 - SUT00D8021-40YN-DA Overall dimensions (basic version)
7.6 - Controller

7.7 - SUT00D8021-40YP2-DA Overall dimensions (with manifold)
7.8 - Controller

8 - SUT00D15021 (15 KW MOTOR)

8.1 - Pump working range

8.2 - p/Q commands (analogue input)

8.3 - SUT00D15021-40YN-DA Circuit block diagram (basic version)
8.4 - SUT00D8021-40YP2-DA circuit diagram (with manifold)

8.5 - SUT00D15021-40YN-DA Overall dimensions (basic version)
8.6 - Controller

8.7 - SUT00D15021-40YP2-DA Overall dimensions (with manifold)
8.8 - Controller

9 - SUT00D20025-40YN-DA (22 KW MOTOR)
9.1 - Pump working range

9.2 - p/Q commands (analogue input)

9.3 - Circuit block diagram

9.4 - SUT00D20025-40YN-DA overall dimensions

9.5 - Controller

10 - 11 KW AND 15 KW CONTROLLERS
10.1 - Overall dimensions

10.2 - Wiring diagram of 11 kW controllers (for SUT00S5021 and
SUT00D8021)

10.3 - 11 kW Electrical accessories

10.4 - Wiring diagram of 15 kW controllers (for SUT00S10021,
SUT00S13021 and SUT00D15021)

10.5 - 15 kW Electrical accessories

11 - 22 KW CONTROLLERS

11.1 - Overall dimensions

11.2 - Wiring diagram of 22 kW controller (for SUT00D20025)
11.3 - 22 kW Electrical accessories

12 - PRESSURE SENSOR
13 - MOTOR TERMINAL BLOCK

14 - INSTALLATION NOTES
14.1 - Hydraulic fluid
14.2 - Lubrication

14.3 - Wiring / installation notes and warnings

15 - SETTING FUNCTIONS REMOTELY
15.1 - Managing the pressure and flow rate from a machine
15.2 - Hybrid-win software

16 - ADDITIONAL DOCUMENTATION



	1 - Identification code
	1.1 - Single pump versions
	1.2 - Double pump versions

	2 - SPECIFICATIONS
	3 - SUT00S5021 (11 kW MOTOR)
	3.1 - Pump working range 
	3.2 - p/Q command voltage
	3.3 - SUT00S5021-40YN-DA circuit diagram (basic version)
	3.4 - SUT00S5021-40YP1-DA circuit diagram (with manifold)
	3.5 - SUT00S5021-40YN-DA overall dimensions (basic version)
	3.6 - Controller 
	3.7 - SUT00S5021-40YP1-DA overall dimensions (with manifold)
	3.8 - Controller 

	4 - SUT00S10021 (15 kW MOTOR)
	4.1 - Pump working range 
	4.2 - p/Q command voltage
	4.3 - SUT00S10021-40YN-DA circuit block diagram (basic version)
	4.4 - SUT00S10021-40YP1-DA circuit diagram (with manifold)
	4.5 - SUT00S10021-40YN-DA overall dimensions (basic version)
	4.6 - Controller 
	4.7 - SUT00S10021-40YP1-DA overall dimensions (with manifold)
	4.8 - Controller 

	5 - SUT00S13021 (15 kW MOTOR)
	5.1 - Pump working range 
	5.2 - p/Q command voltage
	5.3 - SUT00S13021-40YN-DA Circuit block diagram (basic version)
	5.4 - SUT00S13021-40YP1-DA circuit diagram (with manifold)
	5.5 - SUT00S13021-40YN-DA Overall dimensions (basic versions)
	5.6 - Controller 
	5.7 - SUT00S13021-40YP1-DA Overall dimensions (with manifold)
	5.8 - Controller 

	6 - SUT00D*- DOUBLE PUMP UNIT OperatioN 
	7 - SUT00D8021 (11 Kw motor) 
	7.1 - Pump working range 
	7.2 - p/Q commands (analogue input)
	7.3 - Circuit block diagram
	7.4 - SUT00D8021-40YP2-DA circuit diagram (with manifold)
	7.5 - SUT00D8021-40YN-DA Overall dimensions (basic version)
	7.6 - Controller 
	7.7 - SUT00D8021-40YP2-DA Overall dimensions (with manifold)
	7.8 - Controller 

	8 - SUT00D15021 (15 kW MOTOR)
	8.1 - Pump working range
	8.2 - p/Q commands (analogue input)
	8.3 - SUT00D15021-40YN-DA Circuit block diagram (basic version)
	8.4 - SUT00D8021-40YP2-DA circuit diagram (with manifold)
	8.5 - SUT00D15021-40YN-DA Overall dimensions (basic version)
	8.6 - Controller 
	8.7 - SUT00D15021-40YP2-DA Overall dimensions (with manifold)
	8.8 - Controller 

	9 - SUT00D20025-40YN-DA (22 KW MOTOR)
	9.1 - Pump working range
	9.3 - Circuit block diagram
	9.4 - SUT00D20025- 40YN-DA overall dimensions 
	9.5 - Controller 

	10 - 11 KW and 15 KW CONTROLLERS
	10.1 - Overall dimensions
	10.2 - Wiring diagram of 11 kW controllers (for SUT00S5021 and SUT00D8021)
	10.3 - 11 kW Electrical accessories
	10.4 - Wiring diagram of 15 kW controllers (for SUT00S10021, SUT00S13021 and SUT00D15021) 
	10.5 - 15 kW Electrical accessories

	11 - 22 kW controllers
	11.1 - Overall dimensions
	11.2 - Wiring diagram of 22 kW controller (for SUT00D20025)
	11.3 - 22 kW Electrical accessories

	12 - PRESSURE SENSOR
	13 - MOTOR TERMINAL BLOCK
	14 - installation notes
	14.1 - Hydraulic fluid
	14.2 - Lubrication
	14.3 - Wiring / installation notes and warnings

	15 - SETTING FUNCTIONS REMOTELY
	15.1 - Managing the pressure and flow rate from a machine
	15.2 - Hybrid-win software

	16 - Additional documentation

